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Run:141931 Event:  168244  # of Events:45712  Time: Thu Mar 28 22:49:20 2002
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HTDC T0 (WEST vertical) Chi2 / ndf = 9.128 / 18
Prob  = 0.9567

 0.8282 ±Constant = 4.643 
 0.9638 ±Mean     = -18.06 
 1.146 ±Sigma    = 5.947 
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HTDC T0 (WEST vertical) Chi2 / ndf = 8.618 / 14
Prob  = 0.8547

 0.8802 ±Constant = 3.597 
 0.9582 ±Mean     = -18.76 
 1.282 ±Sigma    = 4.564 

HTDC T0 (WEST horizontal) Chi2 / ndf = 8.618 / 14
Prob  = 0.8547

 0.8802 ±Constant = 3.597 
 0.9582 ±Mean     = -18.76 
 1.282 ±Sigma    = 4.564 
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